
t

R(t) = (cos t)i+ j+ (sin t)k.

t =
⇡

2

t = 0 t = 2

x
2 + y

2 + z
2 = 1,

N(0, 0, 1)

z(x, y) =
x
3

3
+ 3x2 � 7x� y

2 + 4y.

I =

ZZ

D

(x2 + y
2)dA,

D x
2 + y

2  9 Ox

hz = x
2 + y

2
, z = h, h > 0

Z

C

(x2 + y
2 + z

2)ds,

C

x = a cos t, y = a sin t, z = bt, 0  t  2⇡, a > 0, b > 0.

CuuDuongThanCong.com https://fb.com/tailieudientucntt

cu
u d

uo
ng

 th
an

 co
ng

 . c
om

http://cuuduongthancong.com?src=pdf
https://fb.com/tailieudientucntt


J =

ZZ

S

(2x+ 2y + z � 1)dS,

S x+ y + z = 1, x � 0, y � 0, z � 0
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